CJ PIVO DUO

ITEM | QTD CODIGO DESCRICAO
1 1 P08128 CARCACA PV DUO ESQUERDA (B) (FURACAQ)
2 1 P08123 EIXO DE TRACAO PV DUO
3 1 P07621 COROA DE NYLON Zz23
4 1 A01130T EST BOB Q20MM 1/4HP 127V ALUM PVQ/BCV
5 1 P07888 INDUZIDO Q20MM PV DUO C/ SEM FIM
6 2 C06015 ROLAMENTO 6201-ZZ NSK C3 12,0MM
7 1 P08127 CARCACA PV DUO DIREITA (A) (FURACAQ)
8 6 C07550 PARAFUSO MQ PN HXL T25 TMA 5 X 20 RI BC
9 1 C05051 PASSA CABO REDONDO @14mm
10 1 P04023 VENTOINHA FECHADA FURO 12MM
11 1 P08118 RABICHO LADO A PV DUO
12 1 P08117 CAME DE ACION DO PINO DESLOC PV DUO
13 1 P00183T CHAVETA 40 X 6,35 X 6,35 MM (ZINC)
14 1 C02138 MOLA DEST C 54
15 1 C02195 PINO ELASTICO 3 X 14mm FOSFATO
16 2 P08107 TERMINAL DIANTEIRO NYLON PV DUO
17 1 Cl00993 MAGNET CORE 22x8x12MM
18 1 P08101-XE TRILHO CONTRA EMBOLO ALUMINIO 0,51M
19 2 P09981T CJ BATENTE DO REED DE ALUMINIO
20 1 P08122 PINO DESLOCADOR PV DUO
21 1 P08109 EMBOLO INOX PV DUO 0,455m (ESTAMPADO)
22 1 C00412 ANEL O'RING 4,5 x 1,78
23 2 C06823 PA CAB PN HXL T25 TMA 5X30 Rl ZB COD.938
24 1 P08124 CARENAGEM PROTECAO DA VENTOINHA PV DUO
25 2 C00386 ROLAMENTO 6003 ZZ C3
26 2 P00270 CAIXA DO REED
27 1 P08113 FUSO 5/8" X 425mm PASSO 30 PV DUO
28 2 C06823 PA PN HXL T25 TMA 5 X 30 Rl ZB COD.938
29 1 P08129 RABICHO LADO B PV DUO
30 7 C07262 PARAFUSO SEXTAVADO FL TNA 5 X 10MM ZB
31 2 C00274 PARAFUSO FH MT 4 X 10
32 1 P08130 PORCA AC BIPARTIDA PV DUO P30 5/8 LADO B
33 2 P04404 CAPA DO ROLAM. COM ABA MENOR DE ELASTOLAN
34 2 P05197 APOIO 20mm DO MOTOR BV DUO
35 6 C03343 PA CAB PN PLAST 3,5x 12 ZB
36 1 P00646 BUCHA GUIA INT PV DUO
37 1 P08105 MANCAL MACHO EMBOLO PV DUO
38 1 P08106 MANCAL FEMEA EMBOLO PV DUO
39 1 P08108 PORCA AC BIPARTIDA PV DUO P30 5/8 LADO A
40 2 C00310 PARAFUSO PHILIPS 3,9 X 9,5 ZB
41 1 P10004T BUCHA DE JUNCAO DE ACO GRAND BV (ZINC)

PROJETADO:
Gabriel

17/04/2019 |  CHECADO:

APROVADO:

ESCALA:

TITULO:

GAREN AUTOMACAO S/A
<§ fo) QRua: Sao Paulo, n° 760, Vila Araceli

Fone/ Fax: Oxx 14 3407-6639 CODIGO:

FOLHA:|REV.:[ DATA:
CEP: 17400-000 GA{&¥&RPEXALODIDA_PIVO | DUQ, 31,75

17/04/2019

FOLHA:
/1




